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Question No : 1 of 52

Marks: 1 (Budgeted Time 1 Min)

=

Which one of the following 1s correct Wallis Sine formula when » 15 odd and » 2 37

“

Answer ( Please select your correct option )

2w (i) (273) (2-5) 53 1
g Jmnxdx—E n (n-2) (n-4) 642

Lo x (1) (172) (-9) 64 2
1 I ol o 531

% s 2-1) (»n=-3) (n-5 & 4 2
& J sin xdx=( = )((n—2)) ((n—-’-l; ——————— =%3 @@W@@ﬁ

) (r-2)(»-4) 642 " ®
5371 ‘mﬂde byo w“qul' &Iddb‘l




Question No : 2 of 52 Marks: 1 (Budgeted Time 1 Min) =]

“

What 1s the period of a pentodic function defined by f(x) =4dcos3x 7

Answer ( Ploase solect your correct option ) VuAnswers.com

T
4

F

correct

YNade by: YWaqar Siddhu




Question No : 3 of 52 Marks: 1 (Budgeted Time 1 Min) =]
I

o

Match the following periodic function with its graph.

f) = 2=x 0<x<{3
¥ 3ewes

Answer ( Ploase seloct your correct option) VuAnswers.com

flx|

c }\_\__ correct

YNade by: Y/aqar Siddhe




Question No : 4 of 52 Marks: 1 (Budgeted Time 1 Min) =]

| A

What 15 the pentod of pertodic function whose graph 1s as below?

Answer ( Ploase seloct your correct option) VuAnswers.com

2

F

correct

YNade by: Y/aqar Siddhe




Question No : 5 of 52 Marks: 1 (Budgeted Time 1 Min) =]

o

What 15 the pentod of pertodic function whose graph 1s as below?

Answer ( Ploase seloct your correct option) VuAnswers.com

0

F

YNade by: Y/aqar Siddhe




Question No : 6 of 52 Marks: 1 (Budgeted Time 1 Min) =]

“

Which of the following condition must be satisfied for a vector field :é to be a conservative vector field?

Answer ( Ploase solect your correct option ) VuAnswers.com

_)
Line mtegral of 7 along a curve, depends only on the endpoints of that curve, not on the particular route taken.

F

Divergence of ;E' should be zero

Gradient of 3‘ should be zero.

YNade by: YWaqar Siddhu




Question No : 7 of 52 Marks: 1 (Budgeted Time 1 Min) =]

“

What 15 the pentod of pertodic function whose graph 1s as below?

Answer ( Ploase solect your correct option ) VuAnswers.com

F

correct

YNade by: YWaqar Siddhu




Question No : 8 of 52 Marks: 1 (Budgeted Time 1 Min) (=}

A

Let L denotes the Laplace Transform.
According to First Shift Theorem, ff L{F(¢)} = f(s) then which of the following equation holds?

s and a are constants.

Answer ( Please seloct your correct option ) VuAnswers.com

L{e™F ()} = f(s+a)

p

L{e™ F(e)} = f(s)

L™ F(@)} = f(a)

L{e™F ()} = fs-a)

) YNade by: Yy/aqar Siddhe




Question No : 9 of 52 Marks: 1 (Budgeted Time 1 Min) =]

o

The function 7'(x) = x* o5 2X i§ -------------

Answer ( Ploase seloct your correct option) VuAnswers.com

Neither even nor odd

Odd function

Even function

YNade by: Y/aqar Siddhe




Question No : 10 of 52 Marks: 1 (Budgeted Time 1 Min) =]

| A

The graph of an even function is symmetrical about ---------------

Answer ( Ploase seloct your correct option) VuAnswers.com

X-axis

V-axis

origin

YNade by: Y/aqar Siddhe




Question No : 11 of 52 Marks: 1 (Budgeted Time 1 Min) I'_:_l

“

Which of the following 15 Laplace mverse transform of the function 7 (s) defined by f(s) = % = g ?
-

by

Answer ( Ploase solect your correct option ) VuAnswers.com

3™ -2

F

3e¥ -2t

3% -2

MNone of these.

YNade by: YWaqar Siddhu




Question No : 12 of 52 Marks: 1 (Budgeted Time 1 Min) I'_:_l

“

What 1s laplace transform of the function F(&)if () =sin 3 7

Answer ( Ploase solect your correct option ) VuAnswers.com
'y Sl
s°+9 correct

YNade by: YWaqar Siddhu




Question No : 13 of 52

Marks: 1 (Budgeted Time 1 Min) (=]

L{ze™} =

If L denotes laplace transform then

“

Answer ( Please select your correct option )

& L{@5’}=821_5
A Mwﬁ=315
| B
(s+5)
| L) = 22 s
¢ cormect YNade by: YYaqar Siddhe




Question No : 14 of 52 Marks: 1 (Budgeted Time 1 Min) (=]

“

What 18 L{-6} if L denotes Laplace Transform?

Answer ( Ploase solect your correct option ) VuAnswers.com

1

s+h

L{-6) =

F

correct

YNade by: YWaqar Siddhu




Question No : 15 of 52 Marks: 1 (Budgeted Time 1 Min) I'_:_l

“

A wector field 15 a vector each of whose components 1s a scalar field

Answer ( Please soloct your correct option ) VuAnswers.com

True

False

YNade by: Y/aqar Siddhe




Question No : 16 of 52 Marks: 1 (Budgeted Time 1 Min) (=}

L AD)
:
/ £ 7
2 2 Bl E v
Answer ( Please seloct your correct option VuAnswers.com

An odd function

An even function

Neither even nor odd

YNade by: Y/aqar Siddhe




Marks: 1 (Budgeted Time 1 Min) (=]

Question No : 16 of 52

-~

Answer ( Please select your correct option )

An odd function

An even function

Neither even nor odd

YNade by: Y/aqar Siddhe



Question No : 16 of 52 Marks: 1 (Budgeted Time 1 Min) (=}

| o | -

The graph of “saw tooth wave™ given above 1§ ~-------------

Answer ( Please seloct your correct option ) VuAnswers.com

An odd function

An even function

Neither even nor odd

YNade by: Y/aqar Siddhe




Question No : 17 of 52 Marks: 1 (Budgeted Time 1 Min) =]

I AN -
Al axes are posttive i1 ----------- octant.

Answer ( Ploase seloct your correct option) VuAnswers.com

First

& correct

Second

YNade by: Y/aqar Siddhe




Question No : 18 of 52 Marks: 1 (Budgeted Time 1 Min) =]

| A

The angles which a line makes with posttive x v and z-axes are known ag ------------

Answer ( Ploase seloct your correct option) VuAnswers.com

Direction cosines

Direction ratios

Direction angles

(* correct

YNade by: Y/aqar Siddhe




Question No : 19 of 52 Marks: 1 (Budgeted Time 1 Min) =]

| A

If @, Sand ¥ are the direction angles of a line then

cos® @ +cos® S+cosd y=

Answer ( Ploase seloct your correct option) VuAnswers.com

0

F

correct

YNade by: Y/aqar Siddhe




Question No : 20 of 52 Marks: 1 (Budgeted Time 1 Min) =]

o

| : :
|| Intersection of two non parallel planestsa. ... ... ...

Answer ( Ploase seloct your correct option) VuAnswers.com

Plane

F

Point

Straight line

c correct

MNone of these.

YNade by: Y/aqar Siddhe




Question No : 21 of 52 Marks: 1 (Budgeted Time 1 Min) =]

o

2
lim —2 =
(2 p2(0.1) x° + y

Answer ( Ploase seloct your correct option) VuAnswers.com

un]

F

YNade by: Y/aqar Siddhe




Question No : 22 of 52 Marks: 1 (Budgeted Time 1 Min) =]

o

The function z = \[_ 1s discontinuous at origin because at the pomnt (0,0), 6. . . ... ... ..
xty

Answer ( Ploase seloct your correct option) VuAnswers.com

has a jump

F

has a hole

approaches towards mfimty

approaches towards zero

comeet  (Yhyade by: Ypfaqar Siddhe




Question No : 23 of 52 Marks: 1 (Budgeted Time 1 Min) =]

| > s

Gradient of a scalar function always resultsma .. ...... ... function.

Answer ( Ploase seloct your correct option) VuAnswers.com

Scalar

F

Contihuous

WVector

YNade by: Y/aqar Siddhe




Question No : 24 of 52 Marks: 1 (Budgeted Time 1 Min) =]

“

At the cnitical point (xy,),) , f D = f, (o205, (o)) -jx},g(xoyo) {0 then fhasa....................

Answer ( Ploase solect your correct option ) VuAnswers.com

Relative maximum at (x;,¥,)

F

Relative minimum at (x,,),)

2 correct

Saddle point at (x,,),)

No conclusion can be drawn

YNade by: YWaqar Siddhu




Question No : 25 of 52 Marks: 1 (Budgeted Time 1 Min) =]

| A

The volume of parallelepiped with dimensions x, v,z 15. ... ... ...

Answer ( Ploase seloct your correct option) VuAnswers.com

V= xtyis

F

YNade by: Y/aqar Siddhe




Question No : 26 of 52 Marks: 1 (Budgeted Time 1 Min) =]

“

FR={(x,y): 08 xL2and 1Ly L4} then ﬂ(6xz +dxVdA=

Answer ( Ploase solect your correct option ) VuAnswers.com

2
J (6x° + 42" ) dydx

F

s T

(6x° + 47" Ydxdy

.
o, b
(O TR S

2
J (6x° + 427" dxdy O 1

™
s T

4 1
J J (6x° + 427 )dxdy

YNade by: YWaqar Siddhu




Question No : 27 of 52 Marks: 1 (Budgeted Time 1 Min) =]

“

Polar co-ordinates of a point are [?, T] . Which of the following 15 another possible polar co-ordinates representation of this point?

Answer ( Ploase solect your correct option ) VuAnswers.com

3
- [?, = cormect

YNade by: YWaqar Siddhu




Question No : 28 of 52 Marks: 1 (Budgeted Time 1 Min) I'_:_l

“

=37

Polar co-ordinates of a point are [—2, T] . Which of the following 15 another possible polar co-ordinates representation of this point?

Answer ( Ploase solect your correct option ) VuAnswers.com

M

correct

YNade by: YWaqar Siddhu




Question No : 29 of 52 Marks: 1 (Budgeted Time 1 Min) =]

| A

If the equation of a curve, i polar co-ordinates, remains unchanged after replacing (», &) by (», 7 — &) then the curve 15 said to be symmetric about . . . ... ... ... ..

Answer ( Ploase seloct your correct option) VuAnswers.com
V-axis

C correct

Pole

Itutial line

YNade by: Y/aqar Siddhe




Question No : 30 of 52 Marks: 1 (Budgeted Time 1 Min) =]

| . s a
I In polar coordinate systemn, x- axis 15 also called . . . . ... .. ..

Answer ( Ploase seloct your correct option) VuAnswers.com

Polar asus

C correct

Pole

Imagmary axis

None of these

YNade by: Y/aqar Siddhe




Question No : 31 of 52 Marks: 1 (Budgeted Time 1 Min) =]

o

| ¢ A ’ :
| The pomt p(0,8) 1 polar coordinate systembeson. ... ... .. ..

Answer ( Ploase seloct your correct option) VuAnswers.com

Polar asus

F

V-axis

Pole

None of these

YNade by: Y/aqar Siddhe




Question No : 32 of 52 Marks: 1 (Budgeted Time 1 Min) I'_:_l

“

Given the mntegral JJf(x,y)dxdy , after converting to polar coordmates, it will become . . ... ... ... where a L8 <{bandclrid

Answer ( Ploase solect your correct option ) VuAnswers.com

o | L[ 7 0rdrae

el L) m0eas correct

- f fj F(r.B)rdbdr

o | [ [ fer.0u8ar

YNade by: YWaqar Siddhu




Question No : 33 of 52 Marks: 1 (Budgeted Time 1 Min) =]

Ll Ll —

-
The parametric equations that correspond to the vector equation 7(£) =sin i+ (1-cos28) jare . . ... ... . ..

Answer ( Ploase seloct your correct option) VuAnswers.com

x=sin’t | y=l-cos2¢t , z=0

P
correct

y=sin2£ . x=1-cos2t , z=0
-~

x=sin’t | y=1-cos2f , z=1
(@,

&
YNade by: Yaqar Siddhy




Question No : 34 of 52 Marks: 1 (Budgeted Time 1 Min) =}

A

1 1 8
If R(¢)is the anti-derivative of a given vector valued function 7 (£) ie., R'(f) = f(z) then I;(t)dt B R O

a

Answer ( Please seloct your correct option VuAnswers.com

R(a) + R(®)

p

1 1
R(b)— R{a) +¢ where c 15 a non-zero constant.

R(&).R(®)

R(B) - R(a)

) YNade by: Yy/aqar Siddhe




Question No : 35 of 52 Marks: 1 (Budgeted Time 1 Min) IQ

A

; ; d ;
For the given vector valued functions fI“l () and ;'2 (£), Z[;l(z) X;Q ()] =............ where "X" and "*" represent the cross and dot product respectively.
£

Answer ( Please seloct your correct option VuAnswers.com

rodry, dnr
dt  dt

r d;‘g d;‘l r
I ,r1><_.+—><,r2
di  dt

1 1
dr, t t _dn
—Xrl +r2 K—

T g dt

1 1
L | O
X +—><,iv'2

o i YNade by: Y/aqar Siddhe




Question No : 36 of 52 Marks: 1 (Budgeted Time 1 Min) =]

“

A wector valued function f(z) = x()i + y(£); +z(£)}2 s continuous o . ...

Answer ( Ploase solect your correct option ) VuAnswers.com

Atleast one of its components 15 continuous.

F

All of its components are necessanly differentiable.

All of its components are continuous.

Limit exasts for all of its components.

YNade by: YWaqar Siddhu




Question No : 37 of 52 Marks: 1 (Budgeted Time 1 Min) I'_:_l

“

: ¥ o
Given a vector valued function »(£) =

i +¢'; and its anti-derivative 52(3) =In(¢ -3) +&';, then J‘}:(z)dz =

Answer ( Ploase solect your correct option ) VuAnswers.com

In(¢—-3)% +&'j+¢

F

t
o | €3]+

T YNade by: Yy agar Siddhe




Question No : 38 of 52 Marks: 1 (Budgeted Time 1 Min) =]

“

. d ;
For any two vector valued functions fl'l(z) and 31"2 (£), Z[ﬁ(s).é (t)]=............ where "X" and "*" represent the cross and dot product respectively.
4

Answer ( Please select your correct option )

VuAnswers.com

rodr, dnr
dt  di

1 1
r dr, dnr
7 Fi—=r

8l Mo g gt

1 1
rxdf“2+drlxr
| A8Ts a0

dt  dt

comect  (YY)ade by: Yy/aqar Siddhy



Question No : 39 of 52 Marks: 1 (Budgeted Time 1 Min) =]

| A

A single curve can be represented by ... ... vector valued function(s).

Answer ( Ploase seloct your correct option) VuAnswers.com

Two

F

Infirtely many

correct

YNade by: Y/aqar Siddhe




Question No : 40 of 52 Marks: 1 (Budgeted Time 1 Min) =]

I . ” A e o 5 s o 5 “
| A function is said to be smooth ifit's derivativedis .. .. .......... .. .. on any value of its domain.

Answer ( Ploase seloct your correct option) VuAnswers.com

contihuous and non zero

F

plecewise continuous
p

defined and non zero
@

differentiable

) T (Y )ade by: Yyaqar Siddhe




Question No : 1 of 52

Marks: 1 (Budgeted Time 1 Min)

=

What 15 the denvative of following vector-valued function?

_;(z)=[z“,\ﬁ:71 ;2]

-

Answer ( Please select your correct option )

V

uAnswers.com

- 1 -6
P =48, e
c 7@ [ s

Do
j

L
w

i+

—t
|
h

£
“‘S_\ d
T
—

I
p— p—, p—,
oy

B
)
[
+
p—t
.
w

YNade by: YY/aqar Siddhu



Question No : 2 of 52

Marks: 1 (Budgeted Time 1 Min) (=]

What 15 the denvative of following vector-valued function?

_;(z) = (etﬁ, £, sec 2£)

-

Answer ( Please select your correct option )

VuAnswers.com

F

r'(t) = (Ze’? , 2t , 2sec2ttan 23)

() = (@ﬁ, 2t , sec 2 tan 2:)

) - (2", 21 , tan 2)

r'ig) = (32932, 2¢ | sec 2¢tan 23)

YNade by: YY/aqar Siddhu



Question No : 3 of 52 Marks: 1 (Budgeted Time 1 Min) =}

-

Evaluate the integral I [(33 -Di+ Nt j] dt

Answer ( Please select your correct option ) vu.A,n Swers COIII

L

a a 3 a 37
AN (Gt —Di+nfz j|de=| 26 -¢]i + 23 j+C
2 2 ;

“

LI 3 > (22
c|f (Gt -Di+aft jlar=|2-¢li+| 2|+
2 3 ;

A a a R O
- f[(3:—1);'+ij]dz=[§z—z]z‘+[§.¢5];+c

o[ [eiesii] =[G+ 3]s YNade by: YY/aqar Siddhu




Question No : 4 of 52 Marks: 1 (Budgeted Time 1 Min) =}

-

The following differential 1s exact
dz =(6xy+2y° =5 dx +(3x° +4xy - 6) dy

Answer ( Please select your correct option ) VUAn Swers COII].

True

False

YNade by: Yy/aqar Siddh




Question No : 5 of 52 Marks: 1 (Budgeted Time 1 Min) =}

-

What 15 the amplitude of a pertodic function defined by 7 (x) =4dcos3x?

Answer ( Please select your correct option ) VUAn Swers Com
- K
3
4
. correct
12
YNade by: YWaqgar Siddhu




Question No : 6 of 52 Marks: 1 (Budgeted Time 1 Min) =}

-

What 15 the period of a pertodic function defined by #(x) =4sin2x7?

Answer ( Please select your correct option ) VUAn Swers Com

{

YDNade by: Yy/aqar Siddh



Question No : 7 of 52 Marks: 1 (Budgeted Time 1 Min) =}

-

What 15 the peniod of a pertodic function defined by 7 (x) = sing 7

Answer ( Please select your correct option ) Vu.A,n Swers COIII

2
2

r

) YNade by: Yy aqgar Siddhe




Question No : 8 of 52

Marks: 1 (Budgeted Time 1 Min) (=]

f()‘4 L 2z LD
40 SEes

Match the following pertodic function with its graph.

-

Answer ( Please select your correct option )

VuAnswers.com

N TTT
- - corroct
e ONyade by: Yagar Siddhe




Question No : 9 of 52

Marks: 1 (Budgeted Time 1 Min) (=]

f()‘4 0<x<6
40 6< x <8

Match the following pertodic function with its graph.

-

Answer ( Please select your correct option )

VuAnswers.com

o |§ :
BT
N N YNade by: Yy aqar Siddhu




Question No : 10 of 52

Marks: 1 (Budgeted Time 1 Min) (=]

What 15 the pertod of pertodic function whose graph 1s as below?

-

Answer ( Please select your correct option )

VuAnswers.com

0
P

27

YNade by: YY/aqar Siddhu



Question No : 11 of 52 Marks: 1 (Budgeted Time 1 Min) =}

-

What 1s the period of pentodic function whose graph 1s as below?

Answer ( Please select your correct option ) VUAn Swers COII].
|0
4
6
-~
8
° correct YNade by: Yy/aqgar Siddhe




Question No : 12 of 52 Marks: 1 (Budgeted Time 1 Min) =}

-

Let L denotes the Laplace Transform.

=0 i

If L{F{t)} = f(s) where s 15 a constant and lim [ 7 ] exists then which of the following equation holds?

Answer ( Please select your correct option ) vu.A,n Swers COIII

& L[@ - fs+a)

YNade by: YY/aqar Siddhu




Question No : 13 of 52 Marks: 1 (Budgeted Time 1 Min) =}

-

The function f(x) = X* 08 2X i -------------

Answer ( Please select your correct option ) VUAn Swers COII].

Netther even nor odd

Odd function

Even function

YNade by: Y/aqar Siddhe




Question No : 14 of 52 Marks: 1 (Budgeted Time 1 Min) =}

-

The graph of an even function is symmetrical about ---------------

Answer ( Please select your correct option ) VUAn Swers COII].

X-axis

V-axis

YNade by: Yy/aqar Siddhu




Question No : 15 of 52 Marks: 1 (Budgeted Time 1 Min) =}

-

The graph of an odd function 1s symmetnical about ----------------

Answer ( Please select your correct option ) VUAn Swers COII].

X-axis

V-axis

YNade by: Yy/aqar Siddhu




Question No : 16 of 52 Marks: 1 (Budgeted Time 1 Min) =}

-

Sign of line integral is reversed when -----------

Answer ( Please select your correct option ) VUAn Swers Com

path of integration 15 divided into parts.
F

path of mtegration 1s parallel to y-axis.

direction of path of integration 1s reversed.

path of integration 1s parallel to x-axs.

) YNade by: Yy aqgar Siddhe




Question No : 17 of 52 Marks: 1 (Budgeted Time 1 Min) =}

-

What 15 laplace transform of the function #1¢) if F(f)=cos 27

Answer ( Please select your correct option ) VUAn Swers Com

| L{cos 2} = 22

oy correct

1
L{cos 2¢} =
e~ | Lt } 3
g
~ | L{cos 2t} = 5
21
| £{cos 2ty = —

S YN ade by: Yy/aqar Siddh




Question No : 18 of 52

Marks: 1 (Budgeted Time 1 Min) (=]

5
What 15 Laplace Inverse Transform of s +25

-

Answer ( Please select your correct option )

V

uAnswers.com

5
=1 s
~| L {32+25} sin ¢

YNade by: YY/aqar Siddhu



Question No : 19 of 52 Marks: 1 (Budgeted Time 1 Min) =}

-

Evaluate the line integral J: (3x+ 2y) dx +(2x — y) dy where C 1s the line segment from (0, 0) to (0, 2).

Answer ( Please select your correct option ) VUAn Swers Com
-k
0
2
2 correct
-2
YNade by: YWaqgar Siddhu




Question No : 20 of 52 Marks: 1 (Budgeted Time 1 IMin) E

-

Evaluate the line integral J: (x0) dx+(1+y*) dy where C is the line segment from (1, 0) to (3, 0).

Answer ( Please select your correct option ) VUAn Swers Com

=

F

Do not exist

’ YN ade by: Yy/aqar Siddh




Question No : 21 of 52 Marks: 1 (Budgeted Time 1 Min) =}

-

If p 1s the period of a function then that function 1s said to be penodic if F(x+ p) = f(x),

Answer ( Please select your correct option ) VUAn Swers Com

For all walues of % in the domain of £

For positive values of x in the domain of £

For negative values of x in the domain of f

YNade by: YY/aqar Siddhu




Question No : 22 of 52 Marks: 1 (Budgeted Time 1 Min) =}

-

A& wector field 15 a vector each of whose components 1s a scalar field

Answer ( Please select your correct option ) VUAn Swers COII].

True

False

YNade by: Yy/aqar Siddh




Question No : 23 of 52 Marks: 1 (Budgeted Time 1 Min) =}
I

F S

A

o

N

|| /= /2

Answer ( Please select your correct option ) VUAn Swers Com

An odd function

An even function

Neither even nor odd

YNade by: Y/aqar Siddhe




Question No : 24 of 52 Marks: 1 (Budgeted Time 1 Min) =}

-

Which of the following set 15 the union of sets of rational and wrational numbers?

Answer ( Please select your correct option ) VUAn Swers Com

Set of rational numbers
F

oet of ntegers

Set of real numbers

Empty set.

) YNade by: Yy aqgar Siddhe




Question No : 25 of 52 Marks: 1 (Budgeted Time 1 Min) =}

-

-\/(XQ ~ xl)g R _)’1)2 e _zl)z shows . .................. (%5, 2] _ (%y, Ya, 22).

Answer ( Please select your correct option ) VUAn Swers Com

Distance between the ponts

Midpoint of the line joining the points

Ratio between the points

YNade by: YY/aqar Siddhu




Question No : 26 of 52 Marks: 1 (Budgeted Time 1 Min) =}

-

Domain of the function f(x, y) = J y—x* satisfies the condition . . .. ... ...

Answer ( Please select your correct option ) VUAn Swers Com

y< x
F

Entire space

’ YN ade by: Yy/aqar Siddh




Question No : 27 of 52 Marks: 1 (Budgeted Time 1 Min) =}

-

If rectangular co-ordinates of a pomt are (1, \E - 2), then value of "t" in cylindncal co-ordmatesis ... . . ..

Answer ( Please select your correct option ) Vu.A,n Swers COIII
N5

r

) YNade by: Yy aqgar Siddhe




Question No : 28 of 52 Marks: 1 (Budgeted Time 1 IMin) E

-

Suppose F(x, y) = x2” . Which of the following options is correct?

Answer ( Please select your correct option ) VUAn Swers Com

. 3x°e™

F

YN ade by: Yy/aqar Siddh




Question No : 29 of 52 Marks: 1 (Budgeted Time 1 Min) =}

-

The function decreases most rapidly i the direction of . . . . . . ..

Answer ( Please select your correct option ) VUAn Swers Com

-Vf
& correct

-]

T X8

[V7]

’ YN ade by: Yy/aqar Siddh




Question No : 30 of 52 Marks: 1 (Budgeted Time 1 Min) =}

-

Two surfaces are said to be orthogonal at the pomt of their mtersection if their normals at that point are ---------

Answer ( Please select your correct option ) VUAn Swers Com

Parallel
~

Perpendicular

In opposite direction

Overlapping

’ YN ade by: Yy/aqar Siddh




Question No : 31 of 52 Marks: 1 (Budgeted Time 1 Min) =}

-

For afunction f(x,y) to have both absolute masimum and minimum, it must be Contuous on . .. ... ... ... ... set B

Answer ( Please select your correct option ) Vu.A,n Swers COIII

a closed and bounded

r

an open and bounded

a closed and unbounded

an open and unbounded

) YNade by: Yy aqgar Siddhe




Question No : 32 of 52

Marks: 1 (Budgeted Time 1 Min) =}

IFR={(x,)):2L x<{dand 0 £ y L1}, then JJ(4xe2”)dA=

-

Answer ( Please select your correct option )

VUAnNsSwers.com

r

(4x2*” dydx

wf-—;-a-

|

(4x2™ Ydxdy

Oh,o—-
mf—,-a-

(4x2*”Vdxdy

l—h,-h
hw

4 2
J J (4xeg'v Vdydx

YNade by: YY/aqar Siddhu



Question No : 33 of 52 Marks: 1 (Budgeted Time 1 Min) =}

-

Let R be a closed region in two dimensional space then the double mtegral over R calculates. . . ... .............

Answer ( Please select your correct option ) Vu.A,n Swers COIII

Area of R

r

Radms of mscribed circle in K.

Distance between two endpoints of R.

None of these

) YNade by: Yy aqgar Siddhe




Question No : 34 of 52 Marks: 1 (Budgeted Time 1 Min) =}

-

Match the following equation in polar co-ordinates with its graph.
rcosfd=a

where a is an arbitrary constant

Answer ( Please select your correct option ) Vu.A,n Swers COIII

r

—
)

(Uua)

jVdR
) /T\ YNade by: Yy/aqar Siddhe




Question No : 35 of 52

Marks: 1 (Budgeted Time 1 Min) =}

Polar co-ordinates of a poimnt are [

2
2

-

] . Which of the following 15 another possible polar co-ordmmates representation of this point?

Answer ( Please select your correct option )

VUAnNsSwers.com

p

RN

!

YNade by: YY/aqar Siddhu



Question No : 36 of 52 Marks: 1 (Budgeted Time 1 Min) =}

-

If the equation of a curve, in polar co-ordinates, remains unchanged after replacing (», 8) by (», — &) then the curve 15 satd to be symmetric about ......................

Answer ( Please select your correct option ) VUAn Swers Com

Ttutial line
-~

V-axis

Pole

origin

’ YN ade by: Yy/aqar Siddh




Question No : 37 of 52 Marks: 1 (Budgeted Time 1 Min) =}

-

The graph of curve r* =4 cos 2 & 1s symmetric about ...........................

Answer ( Please select your correct option ) VUAn Swers Com

Tnitial fine
&
correct

V-axis

both mitial ine and y-axs

none of these

’ YN ade by: Yy/aqar Siddh




Question No : 38 of 52 Marks: 1 (Budgeted Time 1 Min) =}

-

If p(r,8) 15 a pomt in polar coordinate system, then » 1s the distance of p from .. ... .. ..

Answer ( Please select your correct option ) Vu.A,n Swers COIII

Pole

r

Imagmary axis

None of these

Polar axs

) YNade by: Yy aqgar Siddhe




Question No : 39 of 52 Marks: 1 (Budgeted Time 1 Min) =}

-

The pomt p{0,8) 1 polar coordmate systemlieson. ... ... ...

Answer ( Please select your correct option ) Vu.A,n Swers COIII

Polar axus

r

V-axis

Pole

None of these

) YNade by: Yy aqgar Siddhe




Question No : 40 of 52 Marks: 1 (Budgeted Time 1 Min) =}

-

Given the integral L[f(x,y)dxdy , after converting to polar coordmates, it will become . . ... . ... .. where a L8 <bhandcirid

Answer ( Please select your correct option ) VUAn Swers Com

- f f F(r. Oyrdrd®

- I’ I: F(r.8)drd®

o | L[ 7. rasar

< f’ I: F(r.8)d8dr

YNade by: YY/aqar Siddhu




Question No : 1 of 52

Marks: 1 (Budgeted Time 1 Min) (=]

Which one of the following 15 correct Wallis Sine formula when » 15 odd and » 2 37

a

Answer ( Please select your correct option )

|| e = = —T

; j“n””’“g(ﬁ) e o

- -

_______ Yade by: Vy/aqar Siddhu




Question No : 2 of 52 Marks: 1 (Budgeted Time 1 Min) (=)

a

What 15 the amplitude of a pertodic function defined by F(x) =4dsin2x?

Answer ( Please select your correct option ) mms.mm

2

F

YNade by: Yy/aqar Siddhe




Question No : 3 of 52 Marks: 1 (Budgeted Time 1 Min) (=)

a

What 1s the peniod of a pertodic function defined by f(x) = sin% 7

Answer ( Please select your correct option ) mms.mm

it
2

F

YNade by: Yy/aqar Siddhe




Question No : 4 of 52

Marks: 1 (Budgeted Time 1 Min) (=]

P 0< %<4
o 4<x<6

Match the following periodic function with its graph.

a

Answer ( Please select your correct option )

Ty

YNade by: Y/aqar Siddhe



Question No : 4 of 52

Marks: 1 (Budgeted Time 1 Min) (=]

Match the following periodic function with its graph.
3 0<x<4
Jx)=

0 4{x<6

a

Answer ( Please select your correct option )

p

[

0 1416 X
'1
| M correct
)] 4 6 10:°12 X
fix) J
|
0 5 8 X

L 1 % ' 'S 4 d
0 2 3\3L ] 8\1)
P e nnmmt et s o TN o

1

YNade by: Y/aqar Siddhe



Question No : 5 of 52

Marks: 1 (Budgeted Time 1 Min) (=]

sl 0 L6
o 6 < x <8

Match the following periodic function with its graph.

a

Answer ( Please select your correct option )

Ty

YNade by: Y/aqar Siddhe



Question No : 5 of 52

Marks: 1 (Budgeted Time 1 Min) (=]

Match the following periodic function with its graph.
4 0<x<6
Jx)=

0 6 x<8

a

Answer ( Please select your correct option )

p

[

0 1416 X

]

! M
) 4 b 0 12 X
flx J

-
0 5 B X

L 1 % ' 'S 4 d
0 2 3\3L ] 8\1)
P e nnmmt et s o TN o

1

YNade by: Y/aqar Siddhe



Question No : 6 of 52 Marks: 1 (Budgeted Time 1 Min) (=)

-~

What 15 the peniod of pertodic function whose graph 1s as below?
¥
225

fix)
0 3 6 9 X =
Answer ( Please select your correct option ) mms.mm
0
F

2525

YNade by: Yy/aqar Siddhe




Question No : 7 of 52 Marks: 1 (Budgeted Time 1 Min) (=)

a

Which of the following condition must be satisfied for a vector field 3' to be a conservative vector field?

Answer ( Please select your correct option ) mms.mm

—)
Line integral of 7 along a curve, depends only on the endpoints of that curve, not on the particular route taken.

F

Divergence of E;' should be zero

Gradient of 3' should be zero.

YNade by: Y/aqar Siddhe




Question No : 8 of 52

Marks: 1 (Budgeted Time 1 Min) (=]

Let L denotes the Laplace Transform.
According to First Shift Theorem, off L{F(¢)} = f(s) then which of the following equation holds?

s and a are constants.

a

Answer ( Please select your correct option )

p

L{e™F @)} = f(s-a)

Le™F @)} = fs+a)

L{e™F ()} = £ (s)

L{e™F()} = f(a)

YNade by: Y/aqar Siddhe



Question No : 9 of 52 Marks: 1 (Budgeted Time 1 Min) (=)

a

The function 7'(x) = x* 082X i§ --------=----

Answer ( Please select your correct option ) EAD..SH_QI'_S_.QQIH

Even function

Odd function

Neither even nor odd

YNade by: Yy/aqar Siddhe




Question No : 10 of 52 Marks: 1 (Budgeted Time 1 Min) (=)

a

Which of the following 1s Laplace inverse transform of the function f(s) defined by f(s) = % = E ?
B s

Answer ( Please select your correct option ) mms.mm

3™ -2

F

3e¥ -2t

3% -2

MNone of these.

YNade by: Yy/aqar Siddhe




Question No : 11 of 52

Marks: 1 (Budgeted Time 1 Min) (=]

What 15 Laplace transform of a function F(t)?

(s 15 a constant)

a

Answer ( Please select your correct option )

3

-~ J g F(t) dt

w

I J " F(t) dt

w

~ J‘ e F(t) dt

-0

w

~ Il‘ e F(t) dt

YNade by: Y/aqar Siddhe



Question No : 12 of 52 Marks: 1 (Budgeted Time 1 Min) (=)

a

What 15 laplace transform of the function F(¢)if F{£) = sin 3¢ 7

Answer ( Please select your correct option ) mms.mm

L{sin 3¢} = 2

E 5"+ correct

YNade by: Yy/aqar Siddhe




Question No : 13 of 52 Marks: 1 (Budgeted Time 1 Min) (=)

a

If L denotes laplace transform then
L{te™} =

Answer ( Please select your correct option ) mms.mm

1

s* -5

L{tz™} =

F

1
L{te™} =
~ | L{ze™} P

s L{tz™} =

(s+5)

1

o) cormect  (YNade by: Yy/aqar Siddhu

L{tz™} =




Question No : 14 of 52

Marks: 1 (Budgeted Time 1 Min) (=]

s
What 15 Laplace Inverse Transform of st 425

a

Answer ( Please select your correct option )

-1 iy A
~ | L {82+25}= sin 5S¢

YNade by: Y/aqar Siddhe



Question No : 15 of 52 Marks: 1 (Budgeted Time 1 Min) (=)

a

What 15 L{-6) if £ denotes Laplace Transform?

Answer ( Please select your correct option ) mms.mm

1

s+6

L{-6} =

F

YNade by: Yy/aqar Siddhe




Question No : 16 of 52 Marks: 1 (Budgeted Time 1 Min) (=)

a

Cutl of vector function 15 always a --------------

Answer ( Please select your correct option ) mms.mm

Scalar

\ector

c cornrect

YNade by: Y/aqar Siddhe




Question No : 17 of 52 Marks: 1 (Budgeted Time 1 Min) (=)

a

Which of the following 15 geometrical representation of set of real numbers?

Answer ( Please select your correct option ) mms.mm

Co-ordmate line

& correct

xy-plane

ophere

Crrcular cylinder

YNade by: Yy/aqar Siddhe




Question No : 18 of 52 Marks: 1 (Budgeted Time 1 Min) (=)

a

Which of the following 1s the mterval notation of real line?

Answer ( Please select your correct option ) EAD..SH_QI'_S_.QQIH

(-00 ’ +00)

(-OCI ’ 0)

(0, +o)

YNade by: Yy/aqar Siddhe




Question No : 19 of 52 Marks: 1 (Budgeted Time 1 Min) (=)

a

An ordered triple corresponds to —---------- in a three dimenstonal space.

Answer ( Please select your correct option ) mms.mm

A unique point

2 correct

A pomt i each octant

Three points

Infinite number of points

YNade by: Yy/aqar Siddhe




Question No : 20 of 52 Marks: 1 (Budgeted Time 1 Min) (=)

What 1s the distance between points (3, 2, 0) and (1, 0, -1)7 -

Answer ( Please select your correct option ) mms.mm
2 cormect

YNade by: Yy/aqar Siddhe




Question No : 21 of 52 Marks: 1 (Budgeted Time 1 Min) (=)

a

Which of the following are direction ratios for the line joining the points (1.3 3 and (2 -1, 4)?

Answer ( Please select your correct option ) mmws‘ggm
L
-
1,-4, -1
-
2,-3, 20
-~
0.5, -3, 54
8
YNade by: Yaqar Siddhy




Question No : 22 of 52 Marks: 1 (Budgeted Time 1 Min) (=)

a

In three dimensional space, the equation y = x° always represents . . ... .. ... ..

Answer ( Please select your correct option ) mms.mm

Parabola

& correct

Straight line

Half cylinder

YNade by: Yy/aqar Siddhe




Question No : 23 of 52 Marks: 1 (Budgeted Time 1 Min) (=)

a

2 2 2
For a function S (xy.2) , the equation 82f + 82f + 82f =0 13 KNOWH 88 ~=-mmmmmmmmem
d’x &y dz

Answer ( Please select your correct option ) mms.mm

Gauss Equation

F

Euler’s equation

Laplace’s Equation

stoke's Equation

YNade by: Yy/aqar Siddhe




Question No : 24 of 52 Marks: 1 (Budgeted Time 1 Min) (=)

a

Every differentiable function 1s always . ... ... ... ..

Answer ( Please select your correct option ) EAD..SH_QI'_S_.QQIH

Piece wise continuous
=

Discontinuous
~

Contihuous
-~ COffar~t

e
YNade by: Yaqar Siddhe




Question No : 25 of 52 Marks: 1 (Budgeted Time 1 Min) (=)

a

Gradient of a scalar function always resultsina ... ... .. ... function.

Answer ( Please select your correct option ) mms.mm

Scalar

F

Continuous

Vector

Constant

YNade by: Yy/aqar Siddhe




Question No : 26 of 52 Marks: 1 (Budgeted Time 1 Min) (=)

a

The two normal lines for the surfaces f(x,y,z) =0 and g(x,y,z) =0, are orthogonalfand onlysf . . ... ... .. ... ... .. .. where f,,f,./; and g,,g,.g, are direction ratios for the two normal
lines respectively.

Answer ( Please select your correct option ) mms.mm

e - - S

s
28y t 8y + S28: 20

(ﬁ

2 0~y - ]~ ¢

Letpt i veg gyt =0

) YNade by: Yy/aqar Siddhe




Question No : 27 of 52

Marks: 1 (Budgeted Time 1 Min) (=]

Match the following equation in polar co-ordinates with its graph.
rcosfd=a

where a is an arbitrary constant

a

Answer ( Please select your correct option )

p

—_—

YNade by: Y/aqar Siddhe



Question No : 28 of 52 Marks: 1 (Budgeted Time 1 Min) (=)

a

Match the following equation i polar co-ordinates with its graph.
rsamnf=a

where a is an arbitrary constant

Answer ( Please select your correct option ) EAD..SH_QI'_S_.QQIH

p

fa M

‘,l

2 0. aJ

|
= -

Y (i~ M

‘P

YNade by: Y/aqar Siddhe




Question No : 29 of 52 Marks: 1 (Budgeted Time 1 Min) (=)

a

=3T

Polar co-ordinates of a poimnt are [—2, T] . Which of the following 15 another possible polar co-ordmmates representation of this point?

Answer ( Please select your correct option ) mms.mm

=y §
2, —
JEE:

YNade by: Yy/aqar Siddhe




Question No : 28 of 52

Marks: 1 (Budgeted Time 1 Min) (=]

Match the following equation in polar co-ordinates with its graph.
rsinfd=a

where a is an arbitrary constant

a

Answer ( Please select your correct option )

r

| |0.0)

‘ I .

YNade by: Y/aqar Siddhe



Question No : 27 of 52

Marks: 1 (Budgeted Time 1 Min) (=]

Match the following equation in polar co-ordinates with its graph.
rcosfd=a

where a is an arbitrary constant

a

Answer ( Please select your correct option )

p

YNade by: Y/aqar Siddhe



Question No : 27 of 52

Marks: 1 (Budgeted Time 1 Min) (=]

Match the following equation in polar co-ordinates with its graph.
rcosfd=a

where a is an arbitrary constant

a

Answer ( Please select your correct option )

r

YNade by: Y/aqar Siddhe



Question No : 29 of 52 Marks: 1 (Budgeted Time 1 Min) I’QI

a

=3IT

Polar co-ordinates of a poimnt are [—2, T] . Which of the following 15 another possible polar co-ordmmates representation of this point?

Answer ( Please select your correct option ) mﬂn.s.ms;_cgm

AL
2, —
JEE:

YNade by: Y/aqar Siddhe




Question No : 30 of 52 Marks: 1 (Budgeted Time 1 Min) (=)

a

If the equation of a curve, in polar co-ordinates, remains unchanged after replacing (#, &) by (», — &) then the curve 15 said to be symmetric about ......................

Answer ( Please select your correct option ) mms.mm
Trutial line

O cornrect

¥-ax1s

Pole

YNade by: Yy/aqar Siddhe




Question No : 31 of 52 Marks: 1 (Budgeted Time 1 Min) (=)

a

Given the integral gf(x,y)dxdy , after converting to polar coordmnates, it will become . . . ... ... .. where @ L8 <bandcirid

Answer ( Please select your correct option ) mms.mm

o | L[ s 0rdras

. f f F(r.8drdd

. f f F(r. Brddr

" f’ f F(r.8d8dr

YNade by: Yy/aqar Siddhe




Question No : 32 of 52 Marks: 1 (Budgeted Time 1 Min) (=)

O O —

-3
The parametric equations that cotrespond to the vector equation 7(£) =sin® i+ (1-cos28) jare . . ... . ..

Answer ( Please select your correct option ) mms.mm

x=sin’t | y=1-cos2f ,7z=0

O cornrect

y=sin2£ , x=1-cos2t , z=0

x=sin’t | y=1-cos2t , z=1

YNade by: Yy/aqar Siddhe




Question No : 33 of 52 Marks: 1 (Budgeted Time 1 Min) (=)

a

The graph of the equation » =31 =27 - k is the (270 111 CAN—

Answer ( Please select your correct option ) mms.mm

(1,-2,3)

F

YNade by: Yy/aqar Siddhe




Question No : 34 of 52 Marks: 1 (Budgeted Time 1 Min) (=)

a

1 1 8
If Riz)is the anti-derivative of a given vector valued function 7 (£) ie., R'(f) = }:(z) then I;(zjdl R

a

Answer ( Please select your correct option ) mms.mm

R(a) + R(®)
~
- j?(b) = :"Q(a) +¢ where ¢ 15 a non-zero constant. ]

R(&).R(®)
~
" R(®) - R(a)

&
Yade by: Y4/aqar Siddhe




Question No : 35 of 52 Marks: 1 (Budgeted Time 1 Min) (=)

a

: . d .
For the given vector valued functions fI‘l () and ;'2 (£), df[gl(z) xé (OH]=............ where "X" and "*" represent the cross and dot product respectively.
A

Answer ( Please select your correct option ) mmws‘mm

YNade by: Y/aqar Siddhe




Question No : 36 of 52 Marks: 1 (Budgeted Time 1 Min) (=)

a

A wector valued function §~(z) = x(£)1 + y(£) 7 +z(z)z% s continuous of . ... ... ... ..

Answer ( Please select your correct option ) mms.mm

Atleast one of its components 15 continuous.

F

All of its components are necessarily differentiable.

All of its components are continuous.

Lirmit exists for all of its components.

YNade by: Y/aqar Siddhe




Question No : 37 of 52

Marks: 1 (Budgeted Time 1 Min) (=]

. .
Given a vector valued function » () =

1

a

f+¢'7 andits anti-derivative R(¢) =ln(z -3)f +¢'} , then If«(z)dz = .

Answer ( Please select your correct option )

F

In(t -3¢ +&'j+c¢

correct

¢
(z—3)f+%_}+c

b4
(3—3)-1£‘+%}+c

YNade by: Yy/aqar Siddhe



Question No : 38 of 52 Marks: 1 (Budgeted Time 1 Min) (=)

a

: d :
For any two vector valued functions fl‘l(z) and ;*2 (£), E[ﬂ(z).é (£)]=............ where "X" and "*" represent the cross and dot product respectively.
4

Answer ( Please select your correct option ) mms.mm

r drl*g d;*l r
8 di  dt

r d;*g d;"l r
di  dt

rodn dn_r
~ | AX=2+ =2
dt  dt

T

comect (Y )ade by: Y4/aqar Siddhe




Question No : 39 of 52 Marks: 1 (Budgeted Time 1 Min) (=)

a

A single curve can be represented by . .. ... ... vector valued function(s).

Answer ( Please select your correct option ) mms.mm

Two

F

Infintely many

YNade by: Yy/aqar Siddhe




Question No : 40 of 52 Marks: 1 (Budgeted Time 1 Min) (=)

a

A function 1s said to be smooth ifit's denwatwve1s . . ... ... ... ... ... on any value of its domain.

Answer ( Please select your correct option ) mms.mm

continuous and non zero

F

plecewise continuous
F

defined and non zero
p

differentiable

— YNade by: Yy/aqar Siddhe




Question No : 1 of 52 Marks: 1 (Budgeted Time 1 Min) El

a

Which one of the following 1s correct Wallis Cosine formula when » 15 odd and » 237

Answer ( Please select your correct option ) mms.mm

i = —
p jws"xw%’(,ﬁ’fﬂ) e i
| o B2
correct (Y¥)ade by: Yy/aqar Siddhe




Question No : 2 of 52 Marks: 1 (Budgeted Time 1 Min) El

a

What 15 the amplitude of a pertodic function defined by 7 (x) =dcos3x?

Answer ( Please select your correct option ) mms.mm

1

F

COMeck

YNade by: Yy/aqar Siddhe




Question No : 3 of 52 Marks: 1 (Budgeted Time 1 Min) El

a

What 1s the peniod of a pertodic function defined by f(x) = sin% 7

Answer ( Please select your correct option ) mms.mm

it
2

F

COrrect

YNade by: Yy/aqar Siddhe




Question No : 4 of 52

Marks: 1 (Budgeted Time 1 Min) (=]

sl 0 ¢ CS
o 5¢ %<8

Match the following periodic function with its graph.

a

Answer ( Please select your correct option )

Ty

YNade by: Y/aqar Siddhe



Question No : 4 of 52

Marks: 1 (Budgeted Time 1 Min) (=]

sl 0 ¢ CS
o 5¢ %<8

Match the following periodic function with its graph.

a

Answer ( Please select your correct option )

B

14 16 X

YNade by: Y/aqar Siddhe



Question No : 5 of 52 Marks: 1 (Budgeted Time 1 Min) (=)

a

Match the following pertodic function with its graph.

) - 2=-x 0<x<3
MY zewes

Answer ( Please select your correct option ) mmws‘m

p

- < YNade by: Yy aqar Siddhe




Question No : 5 of 52 Marks: 1 (Budgeted Time 1 Min) (=)

a

Match the following pertodic function with its graph.

) - 2=-x 0<x<3
MY zewes

Answer ( Please select your correct option ) mmws‘m

flx|

@ 'i} 2] ¢ 5 2 W

YNade by: Y/aqar Siddhe




Question No : 6 of 52

Marks: 1 (Budgeted Time 1 Min) (=]

Match the following periodic function with its graph.

EJr 0<x<4
4

Ffx)=¢1-x 4< x<10
=5 10< x<13

-~

Answer ( Please select your correct option )

p

Y

2L SR AN R S NI R LT =
fix| R

o} A R

COrrect

YNade by: Y/aqar Siddhe



Question No : 6 of 52

Marks: 1 (Budgeted Time 1 Min) (=]

Match the following periodic function with its graph.

Ex 0<x<4
4

f(x)=¢{7-x 4< x<10
=5 10< x<13

-~

Answer ( Please select your correct option )

YNade by: Y/aqar Siddhe



Question No : 7 of 52 Marks: 1 (Budgeted Time 1 Min) El

-~

What 15 the pentod of pertodic function whose graph 1s as below?
¥
225

fix)
0 3 6 9 X =
Answer ( Please select your correct option ) mms.mm
0
F

2525

correct

YNade by: Yy/aqar Siddhe




Question No : 8 of 52

Marks: 1 (Budgeted Time 1 Min) (=]

The function () =x’€" is ~-----mmmmmm-

a

Answer ( Please select your correct option )

Even function

Odd function

Neither even nor odd

YNade by: Yy/aqar Siddhe



Question No : 9 of 52 Marks: 1 (Budgeted Time 1 Min) EI

a

The graph of an even function i1s symmetrical about ---------------

Answer ( Please select your correct option ) Wmm
X-axis
-~
V-axis
~
COImect
origin
YNade by: Yyaqar Siddhe




Question No : 10 of 52 Marks: 1 (Budgeted Time 1 Min) El

a

Which of the following 1s Laplace inverse transform of the function f(s) defined by f(s) = % = E ?
B s

Answer ( Please select your correct option ) mms.mm

3™ -2

F

3e¥ -2t

33 -2
.
correct

MNone of these.

YNade by: Yy/aqar Siddhe




Question No : 11 of 52 Marks: 1 (Budgeted Time 1 Min) El

a

What is the value of L{e”}if I denotes laplace transform?

Answer ( Please select your correct option ) mnsy_e_ns_mm

0| i3 correct

2 Meﬁ}:sgizs

L L{eﬁ}:s“fzs

o |z =5 :
YNade by: YWaqar Siddhu




Question No : 12 of 52 Marks: 1 (Budgeted Time 1 Min) El

a

What 15 laplace transform of the function F(¢)if F{£) = sin 3¢ 7

Answer ( Please select your correct option ) mms.mm

L{sin 3¢} = 23

B 549 correct

YNade by: Yy/aqar Siddhe




Question No : 13 of 52

Marks: 1 (Budgeted Time 1 Min) (=]

If L denotes laplace transform then
L{te™} =

a

Answer ( Please select your correct option )

F

1

2

L{tz™} =

YNade by: Y/aqar Siddhe



Question No : 14 of 52 Marks: 1 (Budgeted Time 1 Min) I’QI

a

s
| What is Laplace Inverse Transform of s+ 25

Answer ( Please select your correct option ) mﬂn.s.ms;_cgm

-1 iy A
~| L {32+25}= sin ¢

YNade by: Y/aqar Siddhe




Question No : 15 of 52 Marks: 1 (Budgeted Time 1 Min) El

a

Divergence of a vector function 1s always a ------------

Answer ( Please select your correct option ) mms.mm

Scalar

- Cormrect

\ector

YNade by: Y/aqar Siddhe




Question No : 16 of 52 Marks: 1 (Budgeted Time 1 Min) EI

a

If p 1s the period of a function then that function 1s said to be penodic if F(x+ p) = f(x),

Answer ( Please select your correct option ) EAD..SH_QI'_S_.QQIH

For all wvalues of % in the domain of £

- correct

For posttive values of x in the domain of £

For negative values of x in the domain of f

YNade by: Yy/aqar Siddhe




Question No : 17 of 52 Marks: 1 (Budgeted Time 1 Min) EI

a

Which of the following 15 assoctated to each point on a plane?

Answer ( Please select your correct option ) EAD..SH_QI'_S_.QQIH

A real number

& correct

A natural number

An ordered pair

YNade by: Yy/aqar Siddhe




Question No : 18 of 52 Marks: 1 (Budgeted Time 1 Min) El

Consider the mterval (-1, 5) on co-ordinate ine. What does this interval denote? -

Answer ( Please select your correct option ) mms.mm

The set of all real numbers between -1 and 5

& correct

The set of all ntegers between -1 and 5

The set of all natural numbers between -1 and 5

The set of all rational numbers between -1 and 5

YNade by: Y/aqar Siddhe




Question No : 19 of 52 Marks: 1 (Budgeted Time 1 Min) EI

a

Equation of the circular disk with radius @ and ongmn at (0,0)1s gwvenby . ... ... ..

Answer ( Please select your correct option ) EAD..SH_QI'_S_.QQIH

22+ yt =gt

& correct
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Question No : 20 of 52 Marks: 1 (Budgeted Time 1 Min) El

a

In three dimensional space, the equation y = x° always represents . . ... .. ... ..

Answer ( Please select your correct option ) mms.mm

Parabola
F -~ .
COMBCL
Straight line
F
Half cylinder

YNade by: Yy/aqar Siddhe




Question No : 21 of 52 Marks: 1 (Budgeted Time 1 Min) EI

a

Domain of the function 7 (x, y, z) = sz Tl X ot S

Answer ( Please select your correct option ) EAD..SH_QI'_S_.QQIH

Entire 3D-Space

& correct

Entire 3D-Space except origin

First octant of 3D-5Space

YNade by: Yy/aqar Siddhe




Question No : 22 of 52 Marks: 1 (Budgeted Time 1 Min) El

a

Suppose F(x, ) = x2” . Which of the following options is correct?

Answer ( Please select your correct option ) mms.mm

Y 3x°e™
dy

F

YNade by: Yy/aqar Siddhe




Question No : 23 of 52 Marks: 1 (Budgeted Time 1 Min) El

a

Gradient of a scalar function always resultsina ... ... .. ... function.

Answer ( Please select your correct option ) mmwm
Scalar
~
Continuous
-
WVector
~
COMmeCu
Constant
&
YNade by: Yaqar Siddhy




Question No : 24 of 52 Marks: 1 (Budgeted Time 1 Min) El

a

Let x, ¥,z be the length, width and height of a rectangular box. The area of bottom willbe . . ... . .. ..

Answer ( Please select your correct option ) mms.mm

A=yz

F

COrrect

YNade by: Yy/aqar Siddhe




Question No : 25 of 52 Marks: 1 (Budgeted Time 1 Min) El

a

Let x, ¥,z be the length, width and height of an open rectangular box. The surface area of the box willbe . . ... ... ..

Answer ( Please select your correct option ) mms.mm

A=xy+2yz+2xz

F

A=rxz+yz+zx
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Question No : 26 of 52 Marks: 1 (Budgeted Time 1 Min) El

a

IFR={(x,y):0{x£2and 0 £ y <3}, then JJ(l—ye”)dA= ..........

Answer ( Please select your correct option ) mms.mm

1= yve™Vdvd
o | ] correct

c:f_,w
h;w

(1- ye™ \dxdy

B
o, 1
o, )

(1= yew)dxdy

B,
k.haw
ho

2 3
J J (4x2*” dydx
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Question No : 27 of 52 Marks: 1 (Budgeted Time 1 Min) (=)

a

Match the following equation in polar co-ordinates with its graph.
rsinfd=a

where a is an arbitrary constant

Answer ( Please select your correct option ) mmws‘m

r

_—

fa (0
y
2 0. a{
0.3)
“I L
= |

i YVade by: Yy/aqar Siddhe




Question No : 27 of 52

Marks: 1 (Budgeted Time 1 Min) (=]

Match the following equation i polar co-ordinates with its graph.
rsamnf=a

where a is an arbitrary constant

a

Answer ( Please select your correct option )

p

(3,0) -

COMeCl

YNade by: Y/aqar Siddhe



Question No : 28 of 52 Marks: 1 (Budgeted Time 1 Min) El

a

Polar co-ordinates of a point are (—8, 45"). Which of the following is another possible polar co-ordinates representation of this point?

Answer ( Please select your correct option ) mmwm
(8, 225"
A
(-8, 225")
A
(8, 45"
A
(8, 315
& 53
YNade by: Yyaqar Siddhe




Question No : 29 of 52 Marks: 1 (Budgeted Time 1 Min) I’QI

a

Polar co-ordinates of a poimnt are [7, T] . Which of the following 15 another possible polar co-ordinates representation of this point?

Answer ( Please select your correct option ) mﬂn.s.ms;_cgm

3T
g 2
| -7

YNade by: Y/aqar Siddhe




Question No : 30 of 52 Marks: 1 (Budgeted Time 1 Min) El

a

If p(»,8) 15 a pomt in polar coordinate system, then » 1s the distance of p from .. ... .. ..

Answer ( Please select your correct option ) mms.mm

Pole

o Correct

Imagmary axis

None of these

Polar axas
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Question No : 31 of 52 Marks: 1 (Budgeted Time 1 Min) El

a

Given the integral gf(x,y)dxdy , after converting to polar coordmnates, it will become . . . ... ... .. where @ L8 <bandcirid

Answer ( Please select your correct option ) mms.mm

d a
L wrdrd 8
o | L L 7O correct

. f f F(r.8drdd

. f f F(r. Brddr

" f’ f F(r.8d8dr
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Question No : 32 of 52 Marks: 1 (Budgeted Time 1 Min) El

a

The graph of the equation » =31 =27 - k is the (270 111 CAN—

Answer ( Please select your correct option ) mms.mm

(1,-2,3)

F

correct
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Question No : 33 of 52 Marks: 1 (Budgeted Time 1 Min) El

a

The natural domain of a vector valued functionisthe . . . . .. .. of the natural domains of its components

Answer ( Please select your correct option ) mmwm
Product
-
summation
P
Unton
-
COMmMeC
Intersection
3
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Question No : 34 of 52 Marks: 1 (Budgeted Time 1 Min) El

a

1 1 8
If Riz)is the anti-derivative of a given vector valued function 7 (£) ie., R'(f) = }:(z) then I;(zjdl R

a

Answer ( Please select your correct option ) mms.mm

R(a)+ R()

~
- j?(b) = :"Q(a) +¢ where ¢ 15 a non-zero constant.
COIrTeC
R(&).R(®)
~

R(2) - R(a)

) YN ade by: V/aqar Siddhe




Question No : 35 of 52 Marks: 1 (Budgeted Time 1 Min) (=)

a

: . d .
For the given vector valued functions fI‘l () and ;'2 (£), df[gl(z) xé (OH]=............ where "X" and "*" represent the cross and dot product respectively.
A

Answer ( Please select your correct option ) mmws‘mm

YNade by: Y/aqar Siddhe




Question No : 36 of 52 Marks: 1 (Budgeted Time 1 Min) El

a

A wector valued function §~(z) = x(£)1 + y(£) 7 +z(z)z% s continuous of . ... ... ... ..

Answer ( Please select your correct option ) mms.mm

Atleast one of its components 15 continuous.

F

All of its components are necessarily differentiable.
-
COMecu

All of its components are continuous.

Lirmit exists for all of its components.
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Question No : 37 of 52

Marks: 1 (Budgeted Time 1 Min) (=]

. .
Given a vector valued function » () =

1

a

f+¢'7 andits anti-derivative R(¢) =ln(z -3)f +¢'} , then If«(z)dz = .

Answer ( Please select your correct option )

F

In(t -3¢ +&'j+c¢

¢
(z—3)f+%_}+c

b4
(3—3)-1£‘+%}+c
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Question No : 38 of 52 Marks: 1 (Budgeted Time 1 Min) El

a

: d :
For any two vector valued functions fl‘l(z) and ;*2 (£), E[ﬂ(z).é (£)]=............ where "X" and "*" represent the cross and dot product respectively.
4

Answer ( Please select your correct option ) mms.mm

r drl*g d;*l r
8 di  dt

r d;*g d;"l r
di  dt

rodn dn_r
~ | AX=2+=xn
dt  dt
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Question No : 39 of 52 Marks: 1 (Budgeted Time 1 Min) El

a

A single curve can be represented by . .. ... ... vector valued function(s).

Answer ( Please select your correct option ) mms.mm

Two

F

Infintely many

correct

YNade by: Yy/aqar Siddhe




Question No : 40 of 52 Marks: 1 (Budgeted Time 1 Min) El

a

A function 1s said to be smooth ifit's denwatwve1s . . ... ... ... ... ... on any value of its domain.

Answer ( Please select your correct option ) mms.mm

continuous and non zero

F

plecewise continuous
F

defined and non zero
p

differentiable
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